. “Napoleon was considered as child of the French

Revolution.” Examine.

“Sifeem 1 W w1 it w1 g wer S '
qheo it |

. What were the main causes of Industrial

Revolution ?

SN I & T HRO F1 F ?

. Enumerate the role of Intellectual class in Ninteen

Century in Europe.

194 vast & I § UGS a1 it i w1 e
HIfST |

. Discuss the ‘Continental System’ of Napoleon.

TaiferEa & T e’ &1 fasEm #ifsa

. What were the major causes and consequences of

Urbanization ?

TR0 & RO T aRome gead: =1 9 2

. Discuss about the consequences of the American

War of Independence.

SRR & TEdsar WU % 9ROmE &I foa=e Sifea |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

Eor .- ' yvA-uw ‘o1’ iR ‘e’ € wEl § fawfea §1 vaew

Trg & FEYER g9 & S S
Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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ot -

1. (@

(ii)

(iii)

(iv)

v)

(vi)

G ug—31
(3tfa &g ST u9)
frgl O 99l & S ST 9 e ST

FITER T I8, T a9 A1 Afehan 30 vrssi A
TR ST T w99 4 3Rl a1 )

What do you mean by Sickman of Europe ?
AT & AWR ACH F AT F I T ?
What do you know about ‘Manor System’ ?
‘IR R’ & fovm # ey wn WG € 2
Who was Richard Arkwright ?

= emwTge @ a1 ?

What was ‘Magna Carta’ ?

“H st s e ?

Write any fwo characteristics of Feudalism.
e g I TR e )

What do you know about ‘Jacobin Club’ ?
‘Senifed Foa’ & fawg § oMy wn Wea § 2

(vil) Who wrote ‘Wealth of Nations’ ?

‘qeo @e e’ fedn faet ot ?
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(viii) Which of the principles were laid down by

the French Revolution ?

W H i A R A # owER e 2
(ix) What do you know about the Valtaire ?

AR @ fowa # ey SR R 2

Section-B 4%x16=64
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
gug—do
(1Y ST 999)
g - fodl w® uedl & S ST e st S| &l
Afshad 200 Tkl # AREHG HISCI Fo® TR
16 37 &1 Tl
2. Why did the Industrial Revolution first began in
England ?
=Nt i Tegag Some § A IR g 2

3. Discuss about the rise of Feudalism in Europe.

9 H FEEE % Sed i oo Hife |
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